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Q. If the answer to PUB 168 NLH is “yes”, does Hydro propose to maintain 1 

“current cost recovery level for these customers” by maintaining current 2 

existing rate revenues, current revenue to cost ratios, or some other 3 

measure? If the answer to a) is “no”, please explain Hydro’s rationale. 4 

 5 

  6 

A. Hydro applied the forecast general increase resulting for Hydro’s GRA to the 7 

affected customers to determine the total amount of revenue to be collected 8 

and then phased out the 700 block collecting the same revenue amount. 9 


